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(1)540m?> = Jem?

(2) 20300000 cm? = |m?

(3) 4000000 m? = | |km?
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(1) 1m? = 10000 cm?

(2) 10000 cm? = 1 m?

(3)1km? =1kmx 1kmo|BEZ
1000 m x 1000 m = 1000000 m?2
whabA] 4000000 m?2 = 4km?2 JU o,
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1km? = 100ha = 10000a = 1000000m?2
5.1km? = 510ha = 51000a
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510 4 51000 = 51510 ¥ T}.




@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?




@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm
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T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
B>0>0D>20>0




@ 8000g = 8kg

@ 0.4t =400kg
® 1300kg = 1.3t @0.17t =170g
® 5630000¢g = 5630kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g
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‘ 1300cm = 13m °©]B=2 13 x 13 = 169(m?) YUYt}

169 m?
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® 12ha @ 1200000 m?

® 1200000000 cm?
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@ 12ha = 1200 a = 120000 m?

® 0.12km? = (0.12 x 1000000) m? = 120000 m?
@ 1200 a = 120000 m?

® 1200000000 cm? = 120000 m?
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0.108 ha
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0.108 ha

1600 — 520 = 1080( m?)
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1. 7 £-2000000 g L. 6000000 g+5 t
. 4000 kg-+800000 g 2. 12 t-620kg
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1. 7t - 2000000 g = 7000 kg — 2000 kg = 5000 kg

L. 6000000 g + 5t = 6000 kg + 5000 kg = 11000 kg
T. 4000kg + 800000 g = 4000 kg + 800kg = 4800 kg
=
5

. 12t - 620 kg = 12000 kg — 620 kg = 11380 kg
== lleT=15
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39 RAE HA BA A EERte] 2
10t = 10000 kg
10000 kg — 1500 kg = 8500 kg 7HA| 9+ A ofoF it}
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( A2 ol o))+ (A& 9] Hol)
= 5ha = 425a = 42500 m?

(* g can9 yol)

= 140 x 150 + 2 = 10500( m?)

(A& L e r o] Ho])= 42500 — 10500 = 32000( m?)
Al E 1Leng gols AR neolll 47ty tand
WolE ol-&sto] & 4= Tt

(A& v E) x105 + 2 = 10500 1A

(A& me)=200(m)

{( L ©)+120} x 200 + 2 = 32000 ,

(¥ LT)+120= 320 , (¥ L )= 200(m)




13. ohg Oy 22 uEn Bofe] o] BA = 252t Yot o] Hxt
1la 9] FA= 2 kg dY71?
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=90 x 40 = 2 = 1800m? = 18a
25.2t = 25200kg

1a9] F7] = 25200 + 18 = 1400kg
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(A v =] yol)

= 800x(22°])+2 = 640000 m?

(29])= 640000 x 2=-800 = 1600( m)
(A& e al] Yol

= (1800 + 800) x 1600 + 2 = 2080000( m )
2080000 m? = 20800a = 208 ha




